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Al 88,000
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HSAE & N3 M 2435 26,809 25,863 946
101 @14l 6,909 6,563 346
04 JI2ZtHZ22HEE =+ 6,909 6,563 346
O HSAE =T FLH002Y 6,212
O Jles 54,9603 x 1«95 5,222
O F5, di=¥ 54,9603 x 1«18 990
O 4UHEA AN REES 697
O nELEH 6,212,000& %1.75% 109
O e 6,212,000& * 1% 63
O =2z 6,212,000& *4.5% 280
O A2Z:2E 6,212,000& *3.495% 218
O #3JeLEE 218,000 *12.27% 27
203 YR =2 2,700 2,700 0
03 Al =AY R =&Y 2,700 2,700 0
O HSANE ¥ NSIH d3 d2FA
3,000,000& x1E 0.9 2,700
204 MR AH| 10,200 9,600 600
03 SHZ=RFH 10,200 9,600 600
O e sl 50,000& *x17H «12& 10,200
301 LEd = 2,000 2,000 0
09 SALLHIX A S 2,000 2,000 0
O 22U 2= dSAIE A 2,000,000&*13] 2,000
307 glz2+ol & 5,000 5,000 0
02 It A AMHEE 5,000 5,000 0
O ESAE Hes 28 T2 243 N
(ZAtHl, 29dl) 250,000 22 £+ 103 5,000
HEANZ B0st 218,780 237,292 A 18,512
Al 88,000
- 130,780
201 24l 26,880 11,392 15,488




M ANEZH

M NEHH 243 =2
Chelr MEAE 243 (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 20,780 8,660 12,120
© B2 H| 19,800
O HYNT B82S 43| 20 &I (F
E2H0A SEHEY) 40,000 *50H4 2,000
O MEAZ ANESUS AEALEY 2 S
100,000 *3A| 2F*3 «2 3 %2 A 3,600
O dEANE 23D DH 33,500 1204 4,020
O HEAT 243 #49 M
50,0002 1000 & *23] 1,000
O HNEANE 43 EE2S(&832U) M
= 1,800& x1,300H 23] 4,680
O dSANE 23T ABE R (A H
B2 ) 100,000& 103 1,000
O HSANE 2s3&4A =&
1,000,000& =14 1,000
O EESA AALE &2 2,500,000 =14 2,500
O 9% 980
O SSEMMEME S o
70,000 7 %23 980
02 =224 H| 6,100 2,732 3,368
O HEANY ZSHFA 2R3 S
2,600,000& =1 2,600
O AIEAILZS(OIAHOIE L DMHAE)HZSHY
A ZBHE | 3,500,000 =1 3,500
401 Al HI L 204 HI 191,900 225,900 A 34,000
Al 88,000
- 103,900
1 Al& H| 191,000 225,000 A 34,000
O HEANE £5 UL ABAE S 3 FHI (0
HOIE, AMES SANESE S)AIY
100,000,000 =1 100,000
O dESANE A2 SHINE AIY 91,000
O HYEAZ “=X™H HUIAY (F0I20 0l A
2EHEY) 45,000,000 =14l 45,000
Al 45,000
O HEAZE 2% AX(FUEAMA 2
ZHHE) 30,000,000& = 14! 30,000
Al 30,000
O SYMAIE SS5FHl AXI (2200 a
SEHEY) 13,000, 000& » 1Al 13,000
Al 13,000
O WEAS SUALSEE & X (0120104
SEHEY) 3,000,000 =14l 3,000
03 Al&E 201 Y| 900 900 0
O MEANHE 5 & ASANE S SHEHUAMY
100,000,000 *0.9% 900
HNEANE &3 AL XA 6,000 6,000 0
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= 19,514
Jl 2,100
Al 34,230
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s= 28 116,397 78,800 37,597
Al 7,000
- 109,397
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04 DIt Z22 XS+ 39,597 0 39,597
O Bteis2 s0ld 222 35,615
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O 4UHEE MEX BRES 3,982
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M AIZE M

M =EMQ IE
Sl B4 U B42 5B CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 450
Al 225
- 225
301 et A= 900 420 480
= 450
Al 225
- 225
12 JIEtE A= 900 420 480
O ENsERNFHIS) NN 60,000 ~150CH 900
= 450
Al 225
- 225
StM=0 HEAY 4,200 4,200 0
J| 2,100
Al 1,050
5 1,050
307 QI2t0| & 4,200 4,200 0
J| 2,100
Al 1,050
5 1,050
02 QI2tAMAIE E X 4,200 4,200 0
O sStM=0F HEAY 42,000 «10¥ =103l 4,200
J| 2,100
Al 1,050
- 1,050
FSMINHSEM NSAS 1,188 1,485 AN 297
2 594
Al 297
- 297
301 et A= 1,188 1,485 AN 297
2 594
Al 297
- 297
12 JIEtE2 A= 1,188 1,485 AN 297
O FSAMXNIEEH X
4,950 20128 A = 1,188
= 594
Al 297
- 297
TANsg 4 121,549 26,955 94,594
Al 50,010
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SIJ&8dlg K& 49 175 AN 126
Al 10
- 39
301 LBt A= 49 175 N 126
Al 10
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
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© RIFHE NOISE2E, RIIBHIR)
49,0003 =104 & 49
Al 10
T 39
SAN=sgY 243 XN3AMS 121,500 0 121,500
Al 50,000
T 71,500
101 @124 dl 8,073 0 8,073
Al 4,037
- 4,036
04 D122 2XREES 8,073 0 8,073
O SEEAN=ZsT 2R 2,419
O Jles 9, 1603 *6 Al 2t 1H »35Y 1,924
Al 962
T 962
O =5, dx=¢ 9, 1603 *6Al 2kx1H »9Y 495
Al 247
- 248
O BEZAN=T=sT 22 4UHEE AISI
fE3 273
O nELE 2,419,000& *1.75% 43
Al 21
- 22
O MHEH 2,419,000& * 1% 25
Al 13
- 12
O 2oz 2,419,000& *4.5% 109
Al 54
T 55
O HE2E 2,419,000& *3.495% 85
Al 43
- 42
O ¥3JeL:Ed 85,000& *12.27% 1
Al 6
- 5
O TA=sY HEd 2R 4,838
O Jles 9,160& *6 Al 2+ x1H +70L 3,848
Al 1,924
- 1,924
O =5, X2 9,160 +6AI 2t x1H x18L 990
Al 495
T 495
O EAN=Y MEE 222 AHEE MEX
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O nges 4,838,0002 *1.75% 85
Al 43
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Mo sEAY XS
e TAsY 84 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
- 42
O At EE 4,838,000 *1% 49
Al 24
- 25
O =0dH=2 4,838,000& x4 .5% 218
Al 109
- 109
O HAEE 4,838,000 *x3.495% 170
Al 85
- 85
O &) YFEH 170,000& *12.27% 21
Al 11
- 10
201 Bt 39,227 0 39,227
Al 24,613
- 14,614
01 AtR 22l ] 36,627 0 36,627
O BTYSANSYSH SY(ENYXE, HIED
2 s) 9,008,000& =1 9,008
Al 4,504
= 4,504
O SASY MEE 2Y(ZT2IY 29, HIS
22 5) 27,619,000 =14 27,619
Al 18,809
- 8,810
02 2224 H| 2,600 0 2,600
O TECANSYSH 445 U ®IQ3
130,000& =10& 1,300
Al 650
- 650
O TASY MED 425 L #II23
130,000& =10& 1,300
Al 650
- 650
206 M = Hl 8,000 0 8,000
Al 3,250
- 4,750
01 X2 H| 8,000 0 8,000
O TYSANSYSH HBAUE L S S
2 500,000& x 1 500
Al 250
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© AT X4 W2 72 (40,0002 188K E
HE) 7,500,000& =14 7,500
Al 3,000
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401 AlEHIZL £ 0HY| 55,200 0 55,200
Al 12,600
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Al 5,500
T 5,500
01 AL EFH S 11,000 0 11,000
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Al 5,500
- 5,500
sgel=sXAA 27,416 31,216 A 3,800
= 13,708
Al 6,854
- 6,854
TSEsud BFLHATA 27,416 27,416 0
= 13,708
Al 6,854
T 6,854
307 21201 A 27,416 27,416 0
= 13,708
Al 6,854
T 6,854
02 HAFHAANGFEX 27,416 27,416 0
O =SES=Sua WA2HA T3 AL (1,900 #48
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= 13,708
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PSR 60,0002 *2JH *4 7} 2 480
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O ARHNE SEZM A2 312
Y= 1,611& %30 *18IH 2 *23] 174
= 1,4103 %24 *18IH 2 +23] 102
=h 9913 *24 =18 2 *13] 36
O &IXNSI =Xt 22 1,000
saa ZAH S ME
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02 =24l 240 0 240
O 2EXNeE EBHERH S MEE
20,000& 123 240
405 Xt&tE SHI 300 0 300
01 ML ESH SHI 300 0 300
O QEAXMelE HER ¢ 300,000 1CH 300
LPGE Il AFEJt+ Al&HH 6,000 0 6,000
= 3,000
- 3,000
403 UHXHHSA=0l& 6,000 0 6,000
= 3,000
- 3,000
02 S 2S0CHE A =& 2 & AL H 6,000 0 6,000
O LPGEI| AISIt7 A& A&HI
200,000 *302t+* 6,000
= 3,000
- 3,000
HASSE LEOXYE WM ALY 35,000 0 35,000
J| 24,498
Al 5,251
- 5,251
401 Al HI X SO 35,000 0 35,000
J| 24,498
Al 5,251
- 5,251
01 A& HI 34,622 0 34,622
O FHAHZS LED=ZE LHAS 34,622
O 23 % SAHl S 34,622,000& x 14! 34,622
J| 24,234
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 5,194
T 5,194
03 Al 2 THHI 378 0 378
© FHAAS LEDEE WHMALY AIER0HbI
35,000,000& 1.08% 378
J| 264
Al 57
T 57
SZJ ADHE gsEE 10,000 0 10,000
= 5,000
Al 3,000
- 2,000
201 24l 10,000 0 10,000
= 5,000
Al 3,000
- 2,000
01 At 2t 2l 10,000 0 10,000
© =d&ILA Al 8,000& x50 400
= 200
Al 120
- 80
O HBAE U S 24 2
6,000& x100& * 12 600
=2 300
Al 180
- 120
© 20228 &0 ADUHE Esed &4
9,000,000& x13l 9,000
= 4,500
Al 2,700
- 1,800
NEIY 245 1,395,221 1,690,475 A 295,254
= 210,795
s 764,000
Al 400,936
- 19,490
(IENAIEI =D SH ALY 1,128,375 1,229,875 A 101,500
= 75,875
s 764,000
Al 288,500
AMBIRIY SH(LRCIEE, HE) 996,000 940,000 56,000
s 746,000
Al 250,000
307 21201 A 996,000 940,000 56,000
ras 746,000
Al 250,000
02 LB AAHFEX 996,000 940,000 56,000
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- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
CRCENEEF Y EEELEIEERED)
816,000,000 1 816,000
Fag 611,000
Al 205,000
© (GIBI)AIRIED|IY LXeIEHSAIS (H200)
180,000,000 =1 180,000
Fag 135,000
Al 45,000
AMSIEDS SH(AFEEH XH) 108,375 110,875 A 2,500
2 75.875
Al 32,500
307 2Iz2t0| & 108,375 110,875 A 2,500
= 75,875
Al 32,500
02 QIZHAAAIE E X 108,375 110,875 A 2,500
© (GIHIAEIEOIIY AFRIIHLZ Y X2 AL
108,375,000 =1 108,375
= 75,875
Al 32,500
MSIEDIS KEH(AMBES XH) 24,000 19,000 5,000
= 18,000
Al 6,000
307 2I2t0| & 24,000 19,000 5,000
= 18,000
Al 6,000
02 DIZIEAAIE E X 24,000 19,000 5,000
O AMIEIY AMIEBE= 24,000,000 =1 24,000
Fag 18,000
Al 6,000
A EHAN &4 266,846 460,600 AN 193,754
= 134,920
Al 112,436
- 19,490
A EAM HECIEH A 247,356 460,600 N213,244
= 134,920
Al 112,436
307 2izto| A 247,356 460,600 N213,244
= 134,920
Al 112,436
02 QIZFA AAIE E X 247,356 460,600 N213,244
O MIHAMN HUEHCIHAIY olAH|
202,356,000 x 1A 202,356
= 112,420
Al 89,936
O AIS|HAH HUEQEHAE QMEE
45,000,000 =1 45,000
= 22,500
Al 22,500




SH: ANZHRD
o DE¥M 2o

SRl AIRZH 243 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
grd=2AS =24 18,650 0 18,650
201 £B-2d| 150 0 150
02 =224l 150 0 150
O g7 &= 23S 2= IS 24|
150,000& 14 150
307 21201 A 18,500 0 18,500
05 BIZHRIE 3 18,500 0 18,500
O g7 #=2 23 23 18,500,000& =14 18,500
M HB T B4 g 840 0 840
201 ¢4l 840 0 840
01 At 2t 2l 840 0 840
O HRZIAA &7 MIFHZBMARS FH&+H
70,0003 x6H *23| 840
ng =48 ¢ o H 2,003,000 1,200,000 803,000
Al 1,000,000
- 1,003,000
=g gXiel CYsAme 2,000,000 1,200,000 800,000
Al 1,000,000
- 1,000,000
=& gXiel CEsSAeY 2,000,000 1,200,000 800,000
Al 1,000,000
- 1,000,000
101 @124l 1,960,000 1,182,200 777,800
Al 980,000
T 980,000
04 JIZHHZ2XNSE = 1,960,000 1,182,200 777,800
O =8 «Xtel CIgdsSAYE 22X E=
1,960,000, 000& 1 1,960,000
Al 980,000
- 980,000
201 Let24dy] 11,400 4,200 7,200
Al 5,700
- 5,700
01 At 22/l 11,400 4,200 7,200
O =8 «Xtcl CEgsAe det=2t]
10,000, 000& =1 10,000
Al 5,000
- 5,000
© 2g=¢ 1,400
O =g «Xcl LEgsSmd =8 23 &
] 70,0003 x 10 *23| 1,400
Al 700
T 700
202 oddl 3,600 3,600 0




M AEZH D
M g =480 % oHH
S g 2Xel UESAE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 1,800
T 1,800
01 = LH o4 1l 3,600 3,600 0
O =8 gXtel ULEsAg=a L SEHE0
of il 20,0002 3% +52 +122 3,600
Al 1,800
T 1,800
206 M= Hl 25,000 10,000 15,000
Al 12,500
T 12,500
01 =8l 25,000 10,000 15,000
O Ui+g Xl CEsME=E M=l
5,000,000 » 14 25,000
Al 12,500
T 12,500
DECHES ALY 3,000 0 3,000
HAAMAE EE M3 3,000 0 3,000
201 LB-2gH| 3,000 0 3,000
01 At 22l 3,000 0 3,000
O &2 =% MZH 50,000 61 2 *4 3] 1,200
O E2= M%E E HIF 1,800, 000& *13] 1,800
FHAAHS £ & XNLF 168,496 600,402 A 431,906
Al 168,496
=2 S4o SEAMHA M3 168,496 600, 402 A 431,906
Al 168,496
NEBSSH LXelAd 168,496 160,402 8,094
Al 168,496
101 @124l 158,766 155,402 3,364
Al 158,766
04 JI12ZtHZ22 a2+ 158,766 155,402 3,364
O XNAZSSH LAclAeg 22X B
158,766,000& 14 158,766
Al 158,766
201 Let2d] 4,730 2,000 2,730
Al 4,730
01 At 22l 4,730 2,000 2,730
O XNAZSH LAelAte ALR2 el
4,730,000 14 4,730
Al 4,730
206 M= Hl 5,000 3,000 2,000
Al 5,000
01 MHZ 4l 5,000 3,000 2,000
O NESSHM LAcIMmg H=Hl
5,000,000 » 14 5,000
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M FoE ©5 W N2
S =X SA2 SEAMUIA MBS (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
| | | Al 5,000
HHSHHH (AIZZ M) 227,940 212,645 15,295
ol 2| 158,920 151,119 7,801
Ol A4 H| 158,920 151,119 7,801
101 @1 21| 151,932 151,119 813
01 B 82,419 76,851 5,568
O AZ2tz22< 82,419
O 63 12,1243 x35A| 2t x5H « 12& 25,461
o732 10,9523 *35A| 2t x9S x 12& 41,399
O 82 9,832& *35A| 2t*x3H 128 12,389
O ™MIMAHI 79,249,000& *4% 3,170
03 2LA(RIHt)22XHE L 69,513 74,268 N4, 755
O 22 2zl B4 69,513
O JlezUss) 1,712, 750& »2H «12& 41,106
O &au=2 1,712, 750& x2H *240% 8,222
O Mz 4H| 140,000& x2H «12& 3,360
O WsSExH| 120,000& x2H x12& 2,880
O Y& 5Oty 1,712, 7503 2 *120% 4,111
O dAxXsit=sY 11,0703 *8Al 2t x 16 2 H 2,834
O gasd=a 3,500,000& *x2H 7,000
304 A= RE2S 6,988 0 6,988
0132832 2,814 0 2,814
O 248 2k 22AHAZ2 62,511,720 4. 5% 2,814
02 B0AHAUEE= 2,454 0 2,454
O 222 2zl 2UAHABHS 2,454
O HL:2E 62,511,720& *3.495% 2,185
O AI)eIAESH 2,185,000 x12.27% 269
04 222 (R2J/HY)22H1EeEE=E2E2S 1,720 0 1,720
O s2& 2kt DIEAMHEES 1,720
O nsgs 62,511, 720& *1.75% 1,094
O A EE 62,511,720 *1% 626
Jl2& bl 69,020 61,526 7,494
&l 69,020 61,526 7,494
201 LEt2AY| 25,100 21,206 3,894
01 AFR2t2l bl 21,335 17,615 3,720
O YsrxgH| 12,695
O 2Hd2gx8H
(25,000 x18H *x12& )*0.8 4,320
O s2AHER0 50,000& x34 1,700
O o3It s MNES R 300& *2,0000H 600




SA AEZHD
M HNY2HAY| (AZZHD)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O 2AD], TeH EUIIERIX 2L 3,075
SAMI EUIEZIXN P
178,200& *x3H 535
SAI EHIIECIXN P
287, 100& =24 575
2Ty EHIIER XN 2L
120, 0003 #4244 x3H 1,440
QA XNBHEH EHIIEZIXN 2L
175,000& *3H 525
O 222 H&EU 3,000
&40 H& 50, 000& *6H A= x4 3] 1,200
FO2 MAE L e 1,800,000& *13] 1,800
O =&l 8,640
O 52324l 8,000& x18Y 54| x12& 8,640
02 352494l 3,765 3,591 174
O RERS 3,765
O geteH 4303 *20024 *12& 1,032
O sJIH 2,530 *x9024 128 2,733
202 (4] 40,320 36,720 3,600
01 2L Y| 40,320 36,720 3,600
O JI2gRFXAYI 180,000& x18H x12& 38,880
O sRAHZZX bl 20,000& *33| x2H x12& 1,440
203 & R =&H| 3,600 3,600 0
04 2SI L RF=AH| 3,600 3,600 0
O EAN2IHERF=AHY| 300,000& x12& 3,600




